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Exercise 2.1

Identity which of the following
are rational and irrational
numbers?
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Convert the following fractions
into decimal fractions.
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Q.3  Which of the following statements are true and which are false?

. 2. o
(i) — is an irrational number.
(ii) 7 1s an irrational number.
(iii) 5 is a terminating fraction.
. 3. o :
(iv) 2 s a terminating fraction.
4. : :
(v) —1s a recurring fraction.
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Q.4

Represent the following numbers on the number line.
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vi) V5

By Pythagoras theorem

(Hypoteneus)2 = (Base)2 + (Perpencicular)2

(0B) =(2) +(1)

(5Ef:4+1

(EET::S

Taking square root on both sides
(0B) =5

OB=\/5

Q.5 Give a rational number between

3
—andé
4 9

Solution:
Required No between
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Q.6 Express the following recurring
decimals as the rational number

L where p.q are integer

q
andg=0.

(i) 05

Solution:
x=05
x=0.555...
10xx=10x0.555...
10x =5.555..
10x=5+0.555...
10x=5+x
10x—x=35



(i) 013

Solutions:
Suppose
x=013
x=0.131313...
100" x=100x1.131313...
100x =13.1313...
100x =13+0.1313...
100x =13+x
100x—x=13
99x =13

13
X=—

(iii))  0.67
Solutions:
Suppose
x=0.67
x=0.676767...
100xx =100x0.676767 ...
100x = 67.6767...
100x =67+0.6767...
100x =67+ x
100x — x =67
99x =67

67
X=—



